

Certain Subclass of Univalent Functions Involving Modified Sigmoid Function Defined by Using Al-Oboudi Operator

N. D. Sangle ¹, A. N. Metkari ² and S. P. Hande ³

¹ *Department of Mathematics,
Annasaheb Dange College of Engineering and Technology, Ashta,
Maharashtra 416301, India
navneet_sangle@rediffmail.com*

² *Research Scholar Department of Mathematics,
Visvesvaraya Technological University, Belagavi,
Karnataka 590018, India
anand.metkari@gmail.com*

³ *Department of Mathematics,
Vishwanathrao Deshpande Institute of Technology, Haliyal
Karnataka 581329, India
handesp1313@gmail.com*

Abstract

By making use of an Al-Oboudi operator involving modified real sigmoid function, the authors defined a certain subclass of univalent functions denoted by $G_\gamma(\beta, \xi, \mu, \eta, \lambda)$. Various geometric properties of the class were established.

Subject Classification:[2010]Primary 30C45; Secondary 30C50

Keywords: Sigmoid Function, Al-Oboudi Operator, Convex Set, Closure Property, Univalent Function.

1 Introduction

The study of subclasses of univalent function and their geometric properties is significant. Various authors such as [2], [3], [4], [5], [6], [8], [10] and [11] have successfully defined and investigated certain subclasses of univalent functions using differential operators while sigmoid function in univalent functions was also studied in [4], [5], [6], [7], [9] and [12].

Let \mathcal{A} denote the class of functions of the form

$$(1.1) \quad f(z) = z + \sum_{k=2}^{\infty} a_k z^k, \quad a_k \geq 0$$

which are analytic in the unit disk $\mathcal{U} = \{z : |z| < 1\}$.

Let

$$(1.2) \quad \gamma(s) = \frac{2}{1 + e^{-s}} = 1 + \frac{1}{2}s - \frac{1}{24}s^3 + \frac{1}{240}s^5 - \frac{17}{40320}s^7 + \dots \quad s \geq 0.$$

be a modified sigmoid function with $\gamma(0) = 1$
 Let A_γ denote the class of function of the form

$$(1.3) \quad f_\gamma(z) = z + \sum_{k=2}^{\infty} \gamma(s) a_k z^k,$$

Note $A_1 \equiv A$

We define the identity function involving modified sigmoid function which is defined as follow

$$(1.4) \quad e_\gamma(z) = z$$

Definition 1. : Let $n \in N_0 = N \cup \{0\}$ and $\lambda \geq 0$. Denoted by D_λ^n the Al-Oboudi operator [1] defined by,

$$\begin{aligned} D_\lambda^0 f_\gamma(z) &= f_\gamma(z) \\ D_\lambda^1 f_\gamma(z) &= \gamma(s) \left[(1 - \lambda) f_\gamma(z) + \gamma z f'_\gamma(z) \right] \\ D_\lambda^n f_\gamma(z) &= \gamma(s) z D_\lambda \left[D_\lambda^{n-1} f_\gamma(z) \right]. \end{aligned}$$

Therefore,

$$(1.5) \quad D^n f_\gamma(z) = \gamma^n(s) z + \sum_{k=2}^{\infty} \gamma^{n+1}(s) [1 + (k - 1)\lambda]^n a_k z^k$$

$$\text{Taking } \lim_{s \rightarrow \infty} \gamma(s) = 1,$$

We have the Al-Oboudi Operator.

Remark 1. When $\lambda = 1$ we get Salagean differential operator [10].

Definition 2. : A function $f_\gamma \in A_\gamma$ defined by (1.3) is said to belong to the class $G_\gamma(\beta, \xi, \mu, \eta, \lambda)$ if

$$(1.6) \quad \left| \frac{\frac{D_\lambda^{n+1} f_\gamma(z)}{D_\lambda^n f_\gamma(z)} - \xi}{3\mu \left(\frac{D_\lambda^{n+1} f_\gamma(z)}{D_\lambda^n f_\gamma(z)} \right) - \beta \left(\frac{D_\lambda^{n+1} f_\gamma(z)}{D_\lambda^n f_\gamma(z)} - \xi \right)} \right| < \eta$$

where, $\eta > 0, 0 < \xi \leq 1, 0 < \beta \leq 1, 0 < \mu \leq 1, \lambda \geq 0, n \in N_0 = N \cup \{0\}$.

2 Main Results Coefficient Estimates

We begin with a sufficient coefficient estimation for functions to be in class $G_\gamma(\beta, \xi, \mu, \eta, \lambda)$.

Theorem 2.1. *Let $f_\gamma(z)$ defined by (1.3) belongs to the class $G_\gamma(\beta, \xi, \mu, \eta, \lambda)$ then*

$$\sum_{k=2}^{\infty} [1 + (k - 1)\lambda]^n \left\{ \begin{array}{l} \gamma(s) [1 + (k - 1)\lambda] - \xi \\ - \eta \left(\begin{array}{l} 3\mu\gamma^2(s) [1 + (k - 1)\lambda] \\ - \beta\gamma^2(s) [1 + (k - 1)\lambda] + \beta\xi\gamma(s) \end{array} \right) \end{array} \right\} a_k \leq 3\eta\mu\gamma(s) + (\beta\eta + 1)(\xi - \gamma(s)).$$

where, $|z| < 1, \eta > 0, \gamma(s) = \frac{2}{1+e^{-s}}, 0 < \xi \leq 1, 0 < \beta \leq 1, 0 < \mu \leq 1, n \in N_0 = N \cup \{0\}$.

Proof. Suppose, $f_\gamma \in G_\gamma(\beta, \xi, \mu, \eta, \lambda)$. Then, (1.6) holds. Thus

$$(2.1) \quad \frac{D_\lambda^{n+1} f_\gamma(z)}{D_\lambda^n f_\gamma(z)} - \xi = \frac{\gamma^n(s)[\gamma(s) - \xi]z + \sum_{k=2}^{\infty} \left\{ \begin{array}{l} \gamma^{n+1}(s) [1 + (k - 1)\lambda]^n \times \\ [\gamma(s)(1 + (k - 1)\lambda) - \xi] \end{array} \right\} a_k z^k}{\gamma^n(s)z + \sum_{k=2}^{\infty} \gamma^{n+1}(s) [1 + (k - 1)\lambda]^n a_k z^k}$$

and

$$(2.2) \quad \begin{aligned} & 3\mu \left(\frac{D_\lambda^{n+1} f_\gamma(z)}{D_\lambda^n f_\gamma(z)} \right) - \beta \left(\frac{D_\lambda^{n+1} f_\gamma(z)}{D_\lambda^n f_\gamma(z)} - \xi \right) \\ &= \frac{3\mu\gamma^{n+1}(s)z + \sum_{k=2}^{\infty} 3\mu\gamma^{n+2}(s) [1 + (k - 1)\lambda]^{n+1} a_k z^k}{\gamma^n(s)z + \sum_{k=2}^{\infty} \gamma^{n+1}(s) [1 + (k - 1)\lambda]^n a_k z^k} \\ & \left\{ \begin{array}{l} \beta\gamma^{n+1}(s)z + \sum_{k=2}^{\infty} \beta\gamma^{n+2}(s) [1 + (k - 1)\lambda]^{n+1} a_k z^k \\ - \beta\xi\gamma^n(s)z - \sum_{k=2}^{\infty} \beta\xi\gamma^{n+1}(s) [1 + (k - 1)\lambda]^n a_k z^k \end{array} \right\} \\ & - \frac{\left\{ \begin{array}{l} \gamma^n(s)[3\mu\gamma(s) - \beta\gamma(s) + \beta\xi]z + \sum_{k=2}^{\infty} \gamma^n(s)[1 + (k - 1)\lambda]^n \\ \times [3\mu\gamma^2(1 + (k - 1)\lambda) - \beta\gamma^2(s)(1 + (k - 1)\lambda) + \beta\xi\gamma(s)] a_k z^k \end{array} \right\}}{\gamma^n(s)z + \sum_{k=2}^{\infty} \gamma^{n+1}(s) [1 + (k - 1)\lambda]^n a_k z^k}. \end{aligned}$$

Substituting (2.1) and (2.2) in (1.6), we have

$$\left| \gamma^n(s)[\gamma(s) - \xi]z + \sum_{k=2}^{\infty} \gamma^{n+1}(s) [1 + (k-1)\lambda]^n [\gamma(s)(1 + (k-1)\lambda) - \xi] a_k z^k \right|$$

$$< \left| \eta \gamma^n(s) [3\mu\gamma(s) - \beta\gamma(s) + \beta\xi] z \right.$$

$$\left. + \sum_{k=2}^{\infty} \eta \gamma^n(s) [1 + (k-1)\lambda]^n \begin{bmatrix} 3\mu\gamma^2(s)(1 + (k-1)\lambda) \\ -\beta\gamma^2(s)(1 + (k-1)\lambda) + \beta\xi\gamma(s) \end{bmatrix} a_k z^k \right|$$

As $|z| \rightarrow 1^+$,

$$\gamma^n(s)[\gamma(s) - \xi] + \sum_{k=2}^{\infty} \gamma^{n+1}(s) [1 + (k-1)\lambda]^n [\gamma(s)(1 + (k-1)\lambda) - \xi] a_k$$

$$\leq \gamma^n(s) \eta [3\mu\gamma - \beta\gamma + \beta\xi]$$

$$+ \sum_{k=2}^{\infty} \eta \gamma^n(s) [1 + (k-1)\lambda]^n \begin{bmatrix} 3\mu\gamma^2(s)(1 + (k-1)\lambda) \\ -\beta\gamma^2(s)(1 + (k-1)\lambda) + \beta\xi\gamma(s) \end{bmatrix} a_k$$

After simplification we get,

$$\sum_{k=2}^{\infty} \gamma^n(s) [1 + (k-1)\lambda]^n \left\{ \begin{array}{l} \gamma(s)[1 + (k-1)\lambda] - \xi - \eta[3\mu\gamma^2(s)(1 + (k-1)\lambda)] \\ -\beta\gamma^2(s)(1 + (k-1)\lambda) + \beta\xi\gamma(s) \end{array} \right\} a_k$$

$$\leq \gamma^n(s) [\eta(3\mu\gamma(s) + \beta\xi - \beta\xi) + \xi - \gamma]$$

$$\sum_{k=2}^{\infty} [1 + (k-1)\lambda]^n \left\{ \begin{array}{l} \gamma(s)[1 + (k-1)\lambda] - \xi - \eta[3\mu\gamma^2(s)(1 + (k-1)\lambda)] \\ -\beta\gamma^2(s)(1 + (k-1)\lambda) + \beta\xi\gamma(s) \end{array} \right\} a_k$$

$$\leq 3\eta\mu\gamma(s) + (\beta\eta + 1)(\xi - \gamma(s)).$$

Which is sharp for

$$f_\gamma(z) = z + \frac{3\eta\mu\gamma(s) + (\beta\eta + 1)(\xi - \gamma(s))}{[1 + (k-1)\lambda]^n \left\{ \begin{array}{l} \gamma(s)[1 + (k-1)\lambda] - \xi \\ -\eta[3\mu\gamma^2(s)(1 + (k-1)\lambda)] \\ -\beta\gamma^2(s)(1 + (k-1)\lambda) + \beta\xi\gamma(s) \end{array} \right\}} z^n.$$

□

Corollary 1. A function $f \in G_\gamma(\beta, \xi, \mu, \eta, \lambda)$ if

$$(2.3) \quad \sum_{k=2}^{\infty} a_k \leq \frac{3\eta\mu\gamma(s) + (\beta\eta + 1)(\xi - \gamma(s))}{[1 + (k-1)\lambda]^n \left\{ \begin{array}{l} \gamma(s)[1 + (k-1)\lambda] - \xi \\ -\eta[3\mu\gamma^2(s)(1 + (k-1)\lambda)] \\ -\beta\gamma^2(s)(1 + (k-1)\lambda) + \beta\xi\gamma(s) \end{array} \right\}} z^n.$$

Corollary 2. A function $f \in G_1(\beta, \xi, \mu, \eta, \lambda)$ if

$$\sum_{k=2}^{\infty} [1 + (k-1)\lambda]^n \left\{ \begin{array}{l} [1 + (k-1)\lambda] - \xi - \eta[3\mu(1 + (k-1)\lambda)] \\ - \beta(1 + (k-1)\lambda) + \beta\xi \end{array} \right\} \\ \leq 3\eta\mu + (\beta\eta + 1)(\xi - 1).$$

which is sharp for

$$f_{\gamma}(z) = z + \frac{3\eta\mu + (\beta\eta + 1)(\xi - 1)}{[1 + (k-1)\lambda]^n \left\{ \begin{array}{l} [1 + (k-1)\lambda] - \xi - \eta[3\mu(1 + (k-1)\lambda)] \\ - \beta(1 + (k-1)\lambda) + \beta\xi \end{array} \right\}} z^n.$$

Corollary 3. A function $f \in G_1(1, \xi, \mu, \eta, \lambda)$ if

$$\sum_{k=2}^{\infty} [1 + (k-1)\lambda]^n \left\{ \begin{array}{l} [1 + (k-1)\lambda] - \xi - \eta[3\mu(1 + (k-1)\lambda)] \\ - (1 + (k-1)\lambda) + \xi \end{array} \right\} \\ \leq 3\eta\mu + (\eta + 1)(\xi - 1).$$

which is sharp for

$$f_{\gamma}(z) = z + \frac{3\eta\mu + (\eta + 1)(\xi - 1)}{[1 + (k-1)\lambda]^n \left\{ \begin{array}{l} [1 + (k-1)\lambda] - \xi - \eta[3\mu(1 + (k-1)\lambda)] \\ - (1 + (k-1)\lambda) + \xi \end{array} \right\}} z^n.$$

Corollary 4. A function $f \in G_1(1, 1, \mu, \eta, \lambda)$ if

$$\sum_{k=2}^{\infty} [1 + (k-1)\lambda]^n \left\{ \begin{array}{l} [1 + (k-1)\lambda] - 1 - \eta[3\mu(1 + (k-1)\lambda)] \\ - (1 + (k-1)\lambda) + 1 \end{array} \right\} \leq 3\eta\mu.$$

which is sharp for

$$f_{\gamma}(z) = z + \frac{3\eta\mu}{[1 + (k-1)\lambda]^n \left\{ \begin{array}{l} [1 + (k-1)\lambda] - 1 - \eta[3\mu(1 + (k-1)\lambda)] \\ - (1 + (k-1)\lambda) + 1 \end{array} \right\}} z^n.$$

Corollary 5. A function $f \in G_1(1, 1, 1, \eta, \lambda)$ if

$$\sum_{k=2}^{\infty} [1 + (k-1)\lambda]^n \{ [1 + (k-1)\lambda] - 1 - \eta[2(1 + (k-1)\lambda) + 1] \} \leq 3\eta.$$

which is sharp for

$$f_{\gamma}(z) = z + \frac{3\eta}{[1 + (k-1)\lambda]^n \{ [1 + (k-1)\lambda] - 1 - \eta[2(1 + (k-1)\lambda) + 1] \}} z^n.$$

3 Radii Properties

We obtain radii properties for function in the class $G_\gamma(\beta, \xi, \mu, \eta, \lambda)$.

Theorem 3.1. *Let the function $f_\gamma(z)$ defined by (1.3) in the class $G_\gamma(\beta, \xi, \mu, \eta, \lambda)$, then $f_\gamma(z)$ is starlike of order σ ($0 \leq \sigma < 1$) in $|z| < r_1$, where*

$$(3.1) \quad r_1 = \inf_k \left\{ \frac{\left[\begin{array}{l} (1-\sigma) \times \\ (1+(k-1)\lambda)^n \end{array} \right] \left[\begin{array}{l} \gamma(s)(1+(k-1)\lambda) - \xi \\ -\eta(3\mu\gamma^2(s)(1+(k-1)\lambda) \\ -\beta\gamma^2(s)(1+(k-1)\lambda) + \beta\xi\gamma(s)) \end{array} \right]}{(k-\sigma)[3\eta\mu\gamma(s) + (\beta\eta+1)(\xi-\gamma(s))]} \right\}^{\frac{1}{k-1}}, \quad k \geq 2.$$

Proof. Let $\left| \frac{zf'_\gamma(z)}{f_\gamma(z)} - 1 \right| < 1 - \sigma$, $|z| < r_1$.

That is,

$$\left| \frac{zf'_\gamma(z)}{f_\gamma(z)} - 1 \right| = \left| \frac{z - \sum_{k=2}^{\infty} \gamma(s)ka_k z^k - z + \sum_{k=2}^{\infty} \gamma(s)a_k z^k}{z - \sum_{k=2}^{\infty} \gamma(s)a_k z^k} \right|$$

It follows that,

$$\sum_{k=2}^{\infty} \gamma(s) \frac{(k-\sigma)|z|^{k-1}}{(1-\sigma)} \leq \frac{1}{a_k}$$

$$|z|^{k-1} \leq \frac{(1-\sigma)[1+(k-1)\lambda]^n \left[\begin{array}{l} \gamma(s)(1+(k-1)\lambda) - \xi \\ -\eta(3\mu\gamma^2(s)(1+(k-1)\lambda) \\ -\beta\gamma^2(s)(1+(k-1)\lambda) + \beta\xi\gamma(s)) \end{array} \right]}{(k-\sigma)[3\eta\mu\gamma(s) + (\beta\eta+1)(\xi-\gamma(s))]}.$$

Thus,

$$r_1 = \inf_k \left\{ \frac{\left[\begin{array}{l} (1-\sigma) \times \\ (1+(k-1)\lambda)^n \end{array} \right] \left[\begin{array}{l} \gamma(s)(1+(k-1)\lambda) - \xi \\ -\eta(3\mu\gamma^2(s)(1+(k-1)\lambda) \\ -\beta\gamma^2(s)(1+(k-1)\lambda) + \beta\xi\gamma(s)) \end{array} \right]}{(k-\sigma)[3\eta\mu\gamma(s) + (\beta\eta+1)(\xi-\gamma(s))]} \right\}^{\frac{1}{k-1}}, \quad k \geq 2.$$

□

Theorem 3.2. Let the function $f_\gamma(z)$ defined by (1.3) be in the class $G_\gamma(\beta, \xi, \mu, \eta, \lambda)$ then $f_\gamma(z)$ is convex of order σ ($0 \leq \sigma < 1$) in $|z| < r_2$, where

$$(3.2) \quad r_2 = inf_k \left\{ \frac{(1-\sigma)[1+(k-1)\lambda]^n \left[\begin{array}{l} \gamma(s)(1+(k-1)\lambda) - \xi \\ -\eta(3\mu\gamma^2(s)(1+(k-1)\lambda) \\ -\beta\gamma^2(s)(1+(k-1)\lambda) + \beta\xi\gamma(s) \end{array} \right]}{k(k-\sigma)[3\eta\mu\gamma(s) + (\beta\eta+1)(\xi-\gamma(s))]} \right\}^{\frac{1}{k-1}}$$

Proof. The result holds following (3.1) since $f_\gamma(z)$ is convex if and only if $zf'_\gamma(z)$ is starlike. \square

Theorem 3.3. Let the function $f_\gamma(z)$ defined by (1.3) be in the class $G_\gamma(\beta, \xi, \mu, \eta, \lambda)$ then $f_\gamma(z)$ is close to convex of order σ ($0 \leq \sigma < 1$) in $|z| < r_3$, where

$$(3.3) \quad r_3 = inf_k \left\{ \frac{\left[\begin{array}{l} (1-\sigma) \times \\ (1+(k-1)\lambda)^n \end{array} \right] \left[\begin{array}{l} \gamma(s)(1+(k-1)\lambda) - \xi \\ -\eta(3\mu\gamma^2(s)(1+(k-1)\lambda) \\ -\beta\gamma^2(s)(1+(k-1)\lambda) + \beta\xi\gamma(s) \end{array} \right]}{k[3\eta\mu\gamma(s) + (\beta\eta+1)(\xi-\gamma(s))]} \right\}^{\frac{1}{k-1}}, k \geq 2.$$

Proof. We need to verify that $|f'_\gamma(z) - 1| = 1 - \sigma$, ($0 \leq \sigma < 1$) for $|z| < r_3$. Thus,

$$\left| f'_\gamma(z) - 1 \right| = \left| 1 - \sum_{k=2}^{\infty} \gamma(s)ka_k z^{k-1} - 1 \right| \leq \sum_{k=2}^{\infty} \gamma(s)ka_k |z^{k-1}|.$$

Since

$$\left| f'_\gamma(z) - 1 \right| \leq \sum_{k=2}^{\infty} \gamma(s)ka_k |z^{k-1}| \leq 1 - \sigma.$$

If we divide both sides by $(1 - \sigma)$, then,

$$(3.4) \quad \sum_{k=2}^{\infty} \gamma(s) \left(\frac{k}{1-\sigma} \right) a_k |z^{k-1}| \leq 1.$$

Following (3.3), we have that

$$\sum_{k=2}^{\infty} \frac{\gamma(s)k|z|^{k-1}}{(1-\sigma)} \leq \frac{[1+(k-1)\lambda]^n \left[\begin{array}{l} \gamma(s)(1+(k-1)\lambda) - \xi \\ -\eta(3\mu\gamma^2(s)(1+(k-1)\lambda) \\ -\beta\gamma^2(s)(1+(k-1)\lambda) + \beta\xi\gamma(s) \end{array} \right]}{[3\eta\mu\gamma(s) - \gamma(s)(1-\xi)(\beta\eta-1)]}, k \geq 2.$$

which implies that

$$|z| \leq \left\{ \frac{(1-\sigma)[1+(k-1)\lambda]^n \left[\begin{array}{l} \gamma(s)(1+(k-1)\lambda) - \xi \\ -\eta(3\mu\gamma^2(s)(1+(k-1)\lambda) \\ -\beta\gamma^2(s)(1+(k-1)\lambda) + \beta\xi\gamma(s) \end{array} \right]}{k[3\eta\mu\gamma(s) + (\beta\eta + 1)(\xi - \gamma(s))]} \right\}^{\frac{1}{k-1}}.$$

Hence,

$$r_3 = \inf_k \left\{ \frac{\left[\begin{array}{l} (1-\sigma) \times \\ (1+(k-1)\lambda)^n \end{array} \right] \left[\begin{array}{l} \gamma(s)(1+(k-1)\lambda) - \xi \\ -\eta(3\mu\gamma^2(s)(1+(k-1)\lambda) \\ -\beta\gamma^2(s)(1+(k-1)\lambda) + \beta\xi\gamma(s) \end{array} \right]}{k[3\eta\mu\gamma(s) + (\beta\eta + 1)(\xi - \gamma(s))]} \right\}^{\frac{1}{k-1}}, k \geq 2.$$

□

References

- [1] Al-Oboudi, F.M. (2004): On univalent functions defined by a generalized Salagean operator, *Ind. J. Math. Sci.*, Vol. 27, pp. 1429-1436.
- [2] Amourah, A. A. and Yousef, F. (2018): Some properties of a class of analytic functions involving a new generalized differential operator, *Bol. Soc. Paran. Mat.*, Vol. 36(6), pp. 33-42.
- [3] Darus, M. and Ibrahim, R. W. (2009): On subclasses for generalized operators of complex order, *Far East Journal of Mathematical Sciences*, Vol. 33(3), pp. 299-308.
- [4] Ezeafulukwe, U. A.; Darus, M and Fadipe-Joseph, O. A. (2012): On analytic properties of sigmoid function, *International Journal of mathematics and Computer Science*, Vol. 13(2), pp. 171-178 .
- [5] Fadipe-Joseph, O. A.; Kadir, B. B.; Akinwunmi, S. E. and Adeniran, E. O. (2018): Polynomial bounds for a class of univalent function involving sigmoid function, *Khayyam Journal of Mathematics*, Vol. 1, pp. 88-101.
- [6] Fadipe-Joseph, O. A.; Moses, B.O. and Oluwayemi, M. O. (2016): Certain New Classes of analytic functions defined by using sigmoid function, *Advances in Mathematics: Scientific Journal*, Vol. 5(1), pp. 83-89.

-
- [7] Metkari, A. N. ; Sangle, N. D. and Hande, S. P. (2019) Certain New Classes of Analytic Functions Defined By Using Al-Oboudi Operator, International Journal of Research and Analytical Reviews (IJRAR), Vol. 6(1), pp. 129-133.
- [8] Murugusundaramoorthy, G. and Janani, T. (2015): Sigmoid Function in the Space of Univalent λ -Pseudo Starlike Functions, International Journal of Pure and Applied Mathematics, Vol. 8(2), pp. 33-41.
- [9] Ramachardian, C. and Dharalakshimi, K. (2017): Coefficient estimates for a class of spirallike function in the space of sigmoid function, Global Journal of Pure and Applied mathematics, Vol. 13(1), pp. 13-19.
- [10] Salagean, G.S. (1983): Subclasses of Univalent functions, lecture notes in Mathematics, Springer-Verlag Berlin, Vol. 1013, pp. 362-372.
- [11] Sudharsan, T. V. and Vijaya, R. (2012): On certain subclasses of analytic and univalent functions based on an extension of Salagean operator, Bonfring International journal of Data Mining, Vol. 2(3), pp. 1-5.
- [12] Wang, Xiao-Yuan and Wang, Zhi-Ren (2018): Coefficient inequality for a new subclass of univalent functions related to sigmoid function, International Journal of Modern mathematical Sciences, Vol. 16(1), pp. 51-57.